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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% 044208 H13 H eI Dt e/ 90 kv (Biir)
i 4 JE Hh = Wae | %K F e T fE g2y ]

H X k¥ 15. 00 | ¥ 942 14, 130 756 624 184
X H D iz o= 10. 00 | #H%f 550 5, 500 1, 048 777 648
H % o 3. 00| FHxf 79 237 1,728] 1,411 216
5 A [ 1. 00 | FH%F 275 275 864 654 432
ENIE 5.00 fIxf| 150 75| 2,160| 1,620 1,350
A (r— 5. 00 [ FH %} 308 1,540 1,620 1,438 864
= | 0.50| fxt| 2,159 081 140 1o| 76
EN 0.40| fxt| 3,460 1,384 151 40| 86
EEL = 4. 00| fHxf 714 2,856| 1,836 1,445 864
[ I\ w5 5. 00| FH%f 95 475  1,836] 1,395 972
= m | 5.00[ #A%k|  a98| 2,490 1,944 1,509 972
e %% 0. 15| FH%f 6, 242 937 70 62 49
~7 b~ | AbiEiE 3. 00 [ FHx} 360 1,080 2,592 2,127 1,728
(= AbiEiE 0. 10| #H%f 400 40 130 127 119
= ;| 2.00 fixk| i3l 26| 1,080  914| 648
B’ = ft JE 0. 50 | FH%} 518 260 270 237 43
£ A L 10. 00| AHxf 655 6,550 2,160 1,856| 1,620
LA A £ B 10. 00 | #856f 1,270 12,700 1,458 1,217 540
Y=L F R £ B 4. 00| FH%f 610 2,440 2,160 1, 458
T AINT EF I 0. 10| #Hx} 1,323 134 216 122 22
Ty al— E % 4. 00 | FHxF 110 440 2,862 2,420 2,052
L xon LS 4. 00 | FH%f 12 48| 3,240 3,078| 3,024
AEHEE w5 0. 10| #Hxf | 5, 250 525 140 104 54
ZDXH E % 0. 20 | FH %} 450 90 66 42 21

LU E B 0. 20| FH%f 150 30 59
AA ha—yv £ B 5. 00| FH%f 604 3,020| 1,685| 1,521 1,080
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P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz AFN044E08 H 13 H EFER S 31 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]
=K w5 10. 00| AHxf 200 2,000 6,696 5,651 4,320
e i 5 H 10. 00| AHxf 54 540 8, 100
K A 5. 00| FHxf 30 150 2,484| 2,081| 1,836
Bl X K 0. 35| FHxf 100 35 464 354 302
B A — 3 [T 2. 00 | FH %} 20 40| 3,024 2,678 2,592
% i A 0. 50 | FHx} 544 272 378 363 346
AR kL 0. 30 [ #Hx%} 738 221 378 301 238
[N e 13. 00| FA X 570 7,410 4,320 3,777 3,348




